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U.G. 3rd Semester Examination - 2019
ECONOMICS
- [HONOURS]
Skill Enhancement Course (SEC)

Course Code : ECOH-SEC-’E‘—I
Statistical Tools for Data Analysis

Full 'Marks_: 40 Time : 2 Hours
" The figures in the right-hand niargin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

, Vl/ " Answer any ﬁvé 'que.sti‘ons: .. 2x5=10
. ,L,a/)/ . What is Prlmary data?
| ‘QTWWQUW%W?
M b)' .' What is Sampling'method‘?
SR 53 ARS e {F (@2

c) ~Whatis F réquenéy-Distribﬁtion‘?
ARy Rrete zere & @ire
;A) What do you understand by Relative Frequency?
AR AARF] weT0e R G2
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\9/ Mention two important properties of Arithmatic

o

Answer any two questions:

Mean.

s sicea 7' @-@ﬁcf AT e g |
What do you understand by Skewness?
ST e & (A2

‘What would be the shape of a Lepto-kurtic

Frequency curve?

@I AR @A GO e o) ORE

SEEEGk
Find the median of the following numbers:
313, 86, 6_8, 3'2, 8‘0, 48, 7;0, 64 |
e s el g fefy 93
©®, Qw, Ubr, ©Y, b0, 8tr, 40, U8

Explain Fisher's Ideal Formula For Index

number.

Pisher-&a S 35 Ae1's Qe it =0
5x2=10

@m@%mﬁmm
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383/Eco.

What is meant by "Tabulation'? Explain its

importance in statistics. 2+3

‘w5 R’ <ece B @RI S{fZR 22
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b)  Draw the cumulative frequency diagram (both
less than and more than types) of the following

frequency distribution:

Daily wages |200-209{210-219|220-229(230-239[240-249 |250-259
(Rs.)

| No. of 10 20 2 20 | 25 3

workers

Find the Median monthly wages for all 100
workers. | | - 4+1=5
fsfiRe sk Retere T Afm
A (S 8 S @ T ) OF
Pd e '

wiHs smjﬁ | 200-305|350-355[230-335 | JW0-39H|80-385 | 1¢0-IED

(Br=1)

{3 ARl S0 0 R | 20 ¢ ©
>oo@ﬂwﬁwmwﬁ‘<ﬁﬁﬂmﬁmﬁq‘a
@?l

o) i) Ifz -—10 =20 , find AM. X.
| | ‘ 3+2=5
10

- gfw El(xi—10)=20 7y, (@9 9% X

i=1

ﬁcﬁiﬁm
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11)  What is Lorenz curve?
TG (@ (52

\/d)/ The arithmetic mean of two observations is
127.5 and their geometric mean is 60. Find:

7' AT Q@A ST vR4.¢ ¢ WEAeT T vo I

) [KTS
i)  their harmonic mean and
RS (T oie (HM) @=R
i1) the two observations. J==2=5
o s 7 et 39
3.'/ Answer any two questions: - 10x2=20

- B v T i 5
_.a) Establish the relation between AM, GM -and
HM:
- AM>GM >HM

s o (AM), el o6 (GM) & R v
ol (HM)-<7 5y Fsferfe srnrfb efewl < s

AM>GM>HM. -

/:/)/ i)  Calculate SD from the following data:
| © 6+4=10

e el e ol Rda g e
1,2,3,4,..,9,10.
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1) Prove that for first 'y’ positive integers
variance is *-1)/12.

G B (T YT '’ AL HISI<F =l HRF

/-- (TN & (n?—1)/12 |
=<c)

Find the trend equatlon of the following data
usmg the method of least squares. From this

result find the trend values for different years:

| Year: 11971 11972 {1973 {1974 |1975
Production 10 112 178 10 14
('000 tonns):

TIafeiRe ©2 (U w1 R 3 Jmfors aa e el
R ot 391 3 w2y (ArF RiYw wrm eqst

RICACERE =
%4 2 552> [554% [S5a9 [55a8 [Snae
T 'S0 [ 53 | v | so 38
_(’oooﬁm)" | '

Vdf “Find the Mean and Median for the followmg
frequency d1str1but1on of weight's (in kg) of 200
| persons. SO | 6+4

Weight of: persons | 125-134 | 135-144 | 145-154 | 155-164
No. of persons 10 24 36 50
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Weight of: persons

175-184

185-194

195-204

|

No. of persons

165-174

38

18

14

10
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